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No BRT R HE AEDTELE 134 t L-137 5EHE
Ba. kg Ba. kg Ba kg
1 LT (IR AT R6.9.3 B2 S BRHET(<24) BRHET(<3.2) BRHET
2 AL (IR = EEH) R6.9.3 B2 S BRHEET(<2.7) BRHET(<L2.3) BRHET
3 INETET (IBE H4T) R6.9.4 B2 S BRHEET(<2.7) BRHET(<L26) BmHEY
4 fHET (HXEF) R6.9.3 B2 S BRHET(<3.6) BRHET(<L20) BHEEY
5 Frih BT (IBB84 284T) R6.9.3 B2 S BRHET(<4.3) BRHET(<3.2) BHEY
6 BT (IB42EF) R6.9.3 B2 S BRHET(<3.8) BRHET(<L3.5) BHEY
7 AEM(B{ZHEAF) R6.9.5 B2 N B®RHEHE9(<3.9) BRHEE9(<3.1) BmEEd
8 t=ET (IR iSHT) R6.9.5 B2 N BRHEHE9(<25) BmHEtE9(<2.5) B
9 B+ (IBER)AT) R6.9.5 B2 N BRHEHE9(<3.3) BRHEE9(<2.6) BmEEd
10 )1F (1815 R6.9.5 %K BREE9(<1.9) BRHEE9(<29) - Janhcac N
11 | SEERH(EZER) R6.9.6 %K B®RHEHE9(<3.8) 5.61 5.6
12 EZATIBEINF) R6.9.5 B2 N BREE(<44) BRHEE9(<2.3) BmEEd
13 | SEEBRT(IBEHEEF) R6.9.5 B2 S BRHEEY(<3.2) BmHEE9(<3.0) ;- Janhcacn
14 N 1aZINF) R6.9.6 B2 N BREHE9(<3.2) 411 41
15 HIF (EBEH) R6.9.6 B2 S BHE3(<3.1) BHEE9(<32) BmHEd
16 £ ILET ([HHEEH) R6.9.5 B2 S BRHE9(<22) BmHE9(<23) BmHEd
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